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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q1l.In afarm, in addition to 48 hens there are 42 sheep
and 11 oxen with some shepherds. If the total number of
feet be 224 more than the number of heads, find the

number of shepherd.

th‘m“fms % 3(ATar 42 WS 3R 11 99 3R
W mwmmaﬁmﬁzzw?

% a‘rw@ﬁmmﬁﬁq

(a) 11 (b) 13 (c) 15 (d) 17




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q2.Mr. Ankit Is on tour to Siachin and he has Rs. 360 for
his expenditure. If he exceeds his tour by 4 days, he
must trim down his daily expenditure by Rs. 3. For how
many days Is Mr. Ankit on tour?

of} 3ifpd R & ¥ R § 3R 39 U <. ISP W
360 ¥. Ufg 98 3T R A 4 f 3m 9gar g, @t I A
ol @d d 3. B Sl Bt gt | 3. HHAT siferd feaa
fei & T SR W 82

(@) 20 (b) 22 (c) 24 (d) 26




SSC CGL/CHSL TIER 2 (CRASH COURSE)

=

Q3.If 10-digit number 67127y 76x2 Is divisible by 88, then
the value of (7x — 2y).

gfe 10 3| Bt JWT 67127y 76x2, 88 A fAHUTST 8, aY (7x -
2y) BT HIH T BRI?

(@10 (b)7 (c)3 (d)5




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q4.1f the 6-digit numbers x35624 and 1257y4 are divisible
by 11 and 72, respectively, then what is the value of (5x —
2Y)7? .

63 1Y HSTY x35624 3R 1257y4 HHT: 11 R 72 9
faHUTSa 8, Tt (5x — 2y) BT HIF T 872
(a) 13 (b) 12 (c) 10 (d) 14




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q5.How many numbers are there from 200 to 800 which
are neither divisible by 5 nor by 77

200 ¥ 800 dF Ol fhat =AW E S A Al 50 R A G 7
A fAursa 82
(a) 410 (b) 407 (c) 413 (d) 411




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q6.A boys was asked to find the value of 3/8 of a sum of money.
Instead of multiplying the sum by 3/8 he divided it by 3/8 and then
his answer exceeded by Rs. 55. Find the correct answer?

dASP DI TP IR & 3/8 Hed BT Ud] & & o8 HgT T YT
gfvaﬁslsﬁwmﬁ%aﬁqﬁwﬁsﬁmﬁﬁmﬁamaﬁv

P IUBT TaTd YA | 55 TP BT T™ATI el IR BT Udl TE?
(@A)Rs.9 (b)Rs.24 (c)Rs.64 (d)RS. 1320




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q7.What a least number should be added to 1560 that the sum iIs

completely divisible by 18.

Y BId! 98 =T B At g1l for 1560 A Siie UR 98 18 A
yofar fawfera 8 2

a.1566 b.1494 c.1554 d.1580




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q8.The sum of digits of a two digit number is 12. if the
number formed by reversing the digit is greater than
original number by 18. Then find the original number.

&l 3P qTell & TT BT ART 12 8 3R JXAT Bl Ude a1 Sy
dl adfa® ST A 98 18 TSI 81 STell ¢ ,dl IRATdP T
SIGIC 2

ab57 b.89 c.8,7 d4,7




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q9.A two digit number is 4 times of sum of it’s digits. If 9
IS added to the number, Iit’s digits are reversed. What iIs

that number?

&l 3 I HWT AU 3Pl & IR & IR T[T 5,3 R 9 FIST
SITE df ST Udle STl & ol aRdided ST JTd Y ?

al2 b.23 c.45 d.506




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q10.A 4-digit number Is formed by repeating a 2-digit number
such as 1515, 3737, etc. Any number of this form iIs exactly
divisible by

TP 4-3H 1Y HGT 2-3BIY JBT S 1515, 3737, TS PI GIGTH
§TS ST 81 39 ¥4 &1 ®ig Wt I@& yuia: faursy gidt 8

a’7 bll cl3 d101




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q11.0ne-fifth of a number is equal to 5/8th of another number. If
35 Is added to the first number, it becomes four times the second

number. Find the second number.

U IS H1 UiEdi o T & 5/8d & SRTER g | dfe Ugdlt
TS 35 SIS U1 ST qt 98 st ST &1 R A1 81 STell 7 |

SRT &R JTd B9,
a.39 b.70 c¢.40 d.25




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q12.Find out the number which divides 134, 159 or 184 and
Ieaves the remainder 9 in each case.

AT B3 Sl 134, 159 AT 184 B fAUIfoTd Bl § 3R TP
mﬁﬁﬂwgaﬁmﬁél

(@) 25 (b)26 (c)28 (d)NOT




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q13.Find the greatest number which if divides 351, 524
or 697 leaves the same remainder in each case.
I9d §31 S =T BT Ud] @Y, St gfc 351, 524 T 697 Hi

fAyIford ®3d1 8 df v die & IHH Y IgdT 22
(@) 180 (b) 173 (c)190 (d) NOT




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q15.Find the least number in 5 digits which when divided by 20, 25, 3
leaves remainder 15, 20, 25

5 3T H A Bid] AT JATd B oIt 20, 25, 30 F fTAHIRIT B9 TR 15
20, 25 Y I ST §

(1) 10195 (2) 10194 (3) 10184 (4) NOT




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q16.Two positive numbers differ by 1280. When the greater number
Is divided by the smaller number, the quotient is 7 and the

remainder is 50. The greater number Is:
gl YT TSl H 1280 HT 3dR g1 5[d 98! TS I B! GBI A

faurora foar ST 8, d YR d 7 g1 & SR A9UBd 50 gldl 2| <t

@ B
(a) 1558 (b) 1458 (c) 1585 (d) 1485




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q17.A man engaged a servant on a condition that he would pay
him Rs. 80 and a pair of jeans after service of one year. Servant
for only 9 months and receives a pair of jeans and an amount of
Rs. 55. The price of the jeans Is

U% fad A Uh B Bl 59 Id U far f ag 30 .
ITd P |4l & 91 80 $UY 3R TP Sl S | Hhad 9 HEIH &
ﬁw%ﬁvwﬁsﬁmaﬁ?wﬁaﬁw&rmmﬁlss.mﬁ

(a) Rs. 80 (b) Rs. 60 (c) Rs. 40 (d) Rs. 20




SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q18.Which is the largest six digit number, which when divided by
12, 15, 20, 24 and 30, leaves the remainder 8, 11, 16, 20 and 26
respectively

B 3P| Bl a4 ge! U= oI Hl 7, S 12, 15, 20, 24 3R 30,
Ui A w®

Y 8, 11, 16, 20 3N 26 HHI

(T) 999956 (dlt) 999982 (HT) 999960 (S) 999964




